Kuta Software - Infinite Algebra 2
The Law of Sines

Find each measurement indicated. Round your answers to the nearest tenth,
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Solve each triangle. Round your answers to the nearest tenth. 2 9\ le)
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12) mB=45°,a=28,b=27
® b=t4,2
=7, 4
14) mzB=T3%a=7,b=5

not o &

11) mszA=70°c=26,a=25

2B=33%4C=77.%

13) meC=145°6=7,¢c=33

= o},.g 7a o7

15) meB = 117 a=16,b= JS 16) mcB=84°,a=18,6=9

LC=HO A =38 ,0=38 hnota A

17) meB = lDSJb 23,a=14 18) meC=13°, mstA=22°¢c=9

20 =390 2A=3%5 C2|S LB =I4S)as=ls,
19) msB =80% meC= 54 b=11 20) meC=29°b=125,c=21 L = g& q
0 =¥ ¢ = _— i
ﬁfc the number of pnsslb]: mangles that can Zrormed using th,gmn‘ﬁ\':m;ms

zz)mfa'%sz a=27,6=22 02‘
23) mB=29%a=14,b=1 2y-msB =95 b=24,a=S$
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26) mB=35% a=24,b=6 \O
Find the area of each triangle to the nearest tenth.
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21) msC=63,529;0=12
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25) meA=29%c=18,a=17
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Kuta Software - Infinite Algebra 2

The Law of Cosines

Find each measurement indicated. Roun

1) Find AB
B
377 g!
€T a

3) Find BC
A
17, .“ 28 %
c B

5) Find AB

=t 23

7) Find mzA

gt S0y e, \570

9) Find mzA

Jass

d your a

Name,

Date.

nswers to the nearest tenth.

2) Find BC
j 4=
21
54 i -

4) Find BC
@

A (D
A = 8
6) Find AB

N 3l
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8) Find msB

b 0
B c ‘w

10) Find msC

NES

11) FindmzA
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Solve each triangle. Round your an: s

o A= 33

PR

A 4,4 59°
b=y

19) In MBC =l4cm, b=%cm, c—ﬁcm

12) Find mzA

18 ) 4A-:55e)\:

20) In AXYZ, meX = 138°, .y=15in, z=25in

L A=13T, 4B = db) «C=(79

21)InAQRPq 12in, p=28in, r= 8in

£Q=

23)InADE)F =16yd, d=12yd, f= 17yd

ZZ)I.nAQRPp 28km, g=17km, r=15km

[T°.R= 2 2P 79

24) Tn ARPQ, p=18 mi, m/R =17°, =28 mi

LD =42.5° LE=0#.3° £F=T73.2

Y=l = 8"
2£Z=3265°
X =: 3775

) 2= 5!
R =
2P = /23"

027)/_10 o?b
£Q=137°
==re
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KEY

LAW OF SINES PRACTICE

I, Solve for the unknown in each triangle. Round to the nearest tenth.

A. o B. @
17m * 60 X o
44mm qu " .7 L]’
- 9.4cm
22m ‘

36.9% b

D. E. 2lem F. /32
48° 61°
I3 o
= 12m 118
s
45m

86.72° |a.43 9.92

2. Solve for all missing sides and angles in each triangle. Round to the nearest tenth.

]
A B 8.8 A g \ &,
510 7]9 42
‘ yo. 50m
9.8cm - R
K/84 o
: L

33.(

3.8 = lnx Sin 1) _ oty ot |
3.8 %

Scanned by CamScanner



LAW OF COSINES WORKSHEET
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Solve for the unknown in each triangle. Round to the nearest hundredth.

14.77

0 (o]
B. 417 c. (OY
X 17m 3I9mm 47mm 13em
29m 9.4cm
35mm Tem

E. 55¢m E. 4.9m
ol 9.1m
£
I—-? x 50cm
8.3 0
20m ) 3 Z
B3

Solve for all missing sides and angles in each triangle. Round to the nearest
hundredth, ** USE PROPER VARIABLES

AXYZ: x=29m,y=15m,£Z=122°
z=39 X=239° Y=19°
AGHI: g=13cm,h=8cm,i=15cm

G=60" H=32° T =88°

AMNO: n=31m,0=28m,L M =62°

m=31 N=064° 0=54°

3. A triangle has sides equal to 4 m, 11 m and 8 m. Find its angles (round answers to
nearest tenth)

6°
130°
34°
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